Armory Kit- Bass Drum




BASS DRUM PARTS

ITEM |SR4% PART MODEL NO. MG ES [BiikE]
0010 (22 Inch Bass Drum Hoop, Rainforest Burst 0135-2200A-ET ¥15,000
0010 (22 inch Bass Drum Hoop, Redwood Burst 0135-2200A-RA ¥15,000
0010 (22 inch Bass Drum Hoop, Emerald Burst 0135-2200A-FG ¥15,000
0030 |BD SPUR, LEFT, CHROME PLATED 7571J0040A ¥5,800
0030 |BD SPUR, LEFT, BLACK PLATED 7571J0040EBA ¥5,800
0030 |BD SPUR, RIGHT, BLACK PLATED 7571J0041EBA ¥5,800
0030 |BD SPUR, RIGHT, CHROME PLATED 7571J0041A ¥5,800
0040 |BD CLAW ASSEMBLY.. BLACK PLATED 0707-894EBA ¥1,400
0040 |BD CLAW ASSEMBLY.. CHROME PLATED 0707-894A ¥1,400
0050 |BD LUG ASSEMBLY..(TYPE W) CHROME PLATED 0703WW ¥700
0050 |BD LUG ASSEMBLY..(TYPE W) BLACK PLATED 0703WWEB ¥700
0050 |(063SP-MSCH2) Mounting Screw - M5 x P0.8 x 15L x 10 set SMT0500150 ¥1,500
0060 [Nylon washer - black x 10 set M040-020 ¥1,500
0060 [Nylon washer - chrome x 10 set M030-020 ¥1,500
0070 [Tension Rod - Chrome Plated x 2 set SF0550850HX ¥700
0070 [Tension Rod - Black Plated x 2 set SF0550850BX ¥700
0080 |Adjustment Knob x 10 set 7201-675 ¥1,500
0090 |BD SPUR RUBBER TIP x 10 set 7201-685A ¥1,500
0100 |Wing nut (M8*P1.25*23H) - Black Plated x 2 set NZ0800230455EB ¥700
0100 |Wing nut (M8*P1.25*23H) - Chrome Plated x 2 set NZ0800230455 ¥700
0110 |Tension Rod - Chrome Plated - M6 x P1.0 x 15L x 10 set SF0600150 ¥1,000




Armory Kit — Floor Tom / Tom Tom




FLOOR TOM, TOM PARTS

ITEM |&% PART MODEL NO. miGAEM [FikE]
0120 |16 inch Power Hoop, 08 Holes, 1.5mm, Chrome Plated 0101-1608 ¥1,400
0130 |Tension Rod W/Washer - Black Plated - for FT x 10 set SF0550450BX ¥1,500
0130 |Tension Rod W/Washer - Chrome Plated - for FT x 10 set SF0550450HX ¥1,500
0140 |LUG ASSEMBLY.(TYPE W) BLACK PLATED - FOR TT ITS Plate 0704WWEB ¥650
0140 |LUG ASSEMBLY..(TYPE W) BLACK PLATED - FOR TT 0701WWEB ¥700
0140 |LUG ASSEMBLY..(TYPE W) CHROME PLATED - FOR TT 0701WW ¥700
0140 |LUG ASSEMBLY.(TYPE W) CHROME PLATED - FOR TT ITS Plate 0704WW ¥700
0150 |[SONICLEAR FLOOR TOM LEG, BLACK PLATED 34605880EBA ¥1,600
0150 ([SONICLEAR FLOOR TOM LEG, CHROME PLATED 34605880A ¥1,600
0170 |FT MOUNT, BLACK PLATED, M LOGO 6402EBM ¥6,000
0170 |FT MOUNT, CHROME PLATED, M LOGO 6402M ¥6,000
0190 |Tension Rod W/Washer - Chrome Plated - for TT x 10 set SF0550400HX ¥1,500
0200 |TT MOUNT, BLACK PLATED, M LOGO 6650EBM ¥6,000

8~10 TT MOUNT (W/ SONICLEAR TOM SUSPENSION, STEEL), ¥9 800
0200 |FOR W TYPE LUG,CHROME PLATED, M LOGO 6650M2083A
0200 |TT MOUNT, CHROME PLATED, M LOGO 6650M ¥6,000

12~13 TT MOUNT (W/ SONICLEAR TOM SUSPENSION, STEEL), ¥9,800
0200 |FOR W TYPE LUG,BLACK PLATED, M LOGO 6650M2123EBA

12~13 TT MOUNT (W/ SONICLEAR TOM SUSPENSION, STEEL), ¥9 800
0200 [FOR W TYPE LUG,CHROME PLATED, M LOGO 6650M2123A

8~10 TT MOUNT (W/ SONICLEAR TOM SUSPENSION, STEEL), ¥9 800
0200 |FOR W TYPE LUG,BLACK PLATED, M LOGO 6650M2083EBA
0220 [BD Mount Bracket only - Chrome 6850B 6,500
! TOM HOLDER MSSTC 6,500







Armorv&BP&BPDL Snares

ARST4551CEB

ITEM [&%& PART MODEL NO. |58 Ell [Fith =)

0010 |14 Inch Power Hoop, 10 Holes, 2.3mm, Chrome Plated 0107-1410 ¥4,500
0020 |14 Inch Power Hoop, 10 Holes, 2.3mm, Chrome Plated, Snare Side 0107-14101 ¥4,500
0030 |LUG ASSEMBLY..(TYPE Il) CHROME PLATED 072111 ¥1,600
003A |[Lug Gasket (Type 1) x 10 set 0702-114 ¥1,000
003B |Pan Head Screw, M4 x P0.7 x 12L x 10 set SB0400120B ¥1,000
003C ([Washer - Black-Chrome Plated - 12 x 4.3 x 6. x 10 set WC12004360B ¥1,000
003D |[Spring Washer - Black-Chrome Plated - 7.5 x 4.2 x 1.2. x 10 set WS07504212B ¥1,000
0040 [Nylon washer - chrome x 10 set M030-020 ¥1,500
0050 [Tension Rod W/Washer - Chrome Plated (40mm) - for 8", 10" TT x 10 set SF0550400HX ¥1,500
0060 [SN Throw-off Release Side 0671-1540A ¥2,400
006A |KEY SCREW x 10 set SF0500120 ¥1,500
006B [Pan Head Screw w/Washer, Black Plated, M5 x 12L x 10 set SB0500120BA ¥1,000
0070 [SN Throw-off Butt Side 0671-1640A ¥2,400
0080 [SN Wire 14" High Carbon Steel, Black Webbing 18791850A ¥2,400
008A |Snare Cord, White x 2 set 0671-851 ¥200




